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TOOL ENGINEERING
fFutfa e . 369 [Sferehan 3 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A (i) YH-TFHATIFAY feadt
Note : There are THREE sections in the paper A, B and C.
(i) QT CH FFTGEIT1 & GHT 10 57771 & IR ST | IR Y77 T 37% 7 8 09
41 10 97 TGHE IFR F T F 8 [

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & F 8 F971 4 @ 567 6 F57 & TR ST | Y% 97 3 3% HT 8 0T
STHT 5 T / 50 NGl 7 I g |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT F 6 377 4 @ 35781 4 5971 & I ST | Ye9% T 8 3% FT 8 T
$7T 15 &7 / 150 ¥eg] 7 IR 577 |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) Y% QFT & G I971 1 HHIR U Gre 87 HIT |

Solve all the questions of a section consecutively together.

(i) g1 9191371 7 3= 17 1 T 7 375 sgare g a8

Only English version is valid in case of difference in both the languages.

ARE - T
. Section — A
1. () < it o M Taa e o1 Iedte fohan ST Tehar 8 |
(a) (b) e
(c) @al g (d) @&
Continuous chips can be produced during machining of
(a) Brass (b) Bronze
(¢) CastlIron (d) Copper

- (10f4) P.T.O.
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(i) 3= (18-4-1)H M 3B |
(@) 1% whiftRm (b) 18% fsat
(c) 18% m&A (d) 4% feam
High speed steel (18-4-1) contains
(a) 1% Chromium (b)  18% Nickel
(c) 18% Tungsten (d) 4% Vanadium
(iil) 38 fera o1 = Hifse 5@ {61 srevasa 78 a8 2 |
(a) e (b) @&
(c) ftm d) Bem
Select the operation that does NOT require a jig.
(a) Drilling (b) Tapping
(¢) Reaming (d) Turning

(iv) Tt o w1 =1 w=m feres ford foa fom & Rpar s @ 2
(a) Toot 6t wmuan o fdem & o
(b) fdeish ! W & o
(c) TIeH @l geH & fol
(d) IWied H @ B 78]

Drill jig bush is used in drill jig for
(a)  locating and guiding the drill (b) pouring the coolant

(¢) removing the swarf (d) None of the above
(v) T8 ud fopaeer 3 S5mTel 819 Tell 9o e 3R 9 e arer e 2 —
(a) T FI (b) FuF
ORASE S (d) ToTHrw
The simplest and low-cost clamp used in jigs and fixtures is
(a)  Strap clamp (b) Cam clamp
(¢) Toggle clamp (d) Equaliser
(vi) TS 531 1 ged rfres geamTer fema S 2
(a) Mawgud (b) wefgagud
(c) Tl (a) W (b)H (d) 39U H B S TE
The Jig bush most commonly used :
(a) in linear bush (b) in headed drill bush

(¢) Both (a) and (b) (d) None of the above
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(vii) Fefafgad @ s araaeda 2 ¢

(a) wIIE (b) S S

(c) TIESIfeTs 39 (d) 39 g
Which of the following is power press ?

(a) hand press (b) fly press

(¢) hydraulic press (d) All of the above

(viii) e iR areft gr3a S | fopa wenm Y Siee o1 Wi fRpe Srar 2 7

(a) WiZde (b) AR
(c) eh-see d) TR
Which type of belt is used in single geared drive press ?
(a) Flat belt (b) Round belt
(c) V-belt (d) Timing belt
(ix) M-IFEATiciafgaaen 2
(a) 2 () 3
(c) 4 (d 10
The total no. of rolls involved in a three-high mill is
(a) 2 (b) 3
(c) 4 (d) 10
(x) Trferfaa 4 @ wib  Ufei 6 s a8 2 2
(a) TTSHTTT TTTAT (b) Il 3rerE
(c) YIS 3T (d)  SAITAITEET 3TeERT
Which of the following is not a stage of rolling ?
(a) Finishing stage (b) Leader stage
(c) Breakdown stage (d) Back-up stage
A — ot
Section — B

2. 37aq fa i & sge sRE HH A E 7

What are the favourable factors for discontinuous chip formation ?

3. 29 oIS i gy shifs |

Define tool life.

4,  TEUCH A hi YU Hd 9T ITHW hT I 8 ?

What are the standard work holding devices in lathe ?
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5.

10.

11.

12.

13.

14.

1S.

o aen fraeer w1 afeamia Hifm |

Define Jig and Fixture.

fgafm P g s g & 7

What are the different types of drill Jigs ?

Ao FeTer iy I |

Define blanking operation.

HUSE T 6T =T HIf |

Explain compound die.

UfeT &1 %1 Rrgia s & 7

What is working principle of rolling ?
o — ot
Section — C

T % webrl o foream & Tz |

Explain types of chip in detail.

<helT SUHTT AT % e o Bt frear & weTe |

What are the desirable properties of a cutting tool material ? Explain in detail.

ST 3t frarear 7 siq forfed | fom sf Rberes & 7 oy & 7

Write differences between Jigs and fixtures. What are the advantages of Jigs and fixtures ?

ﬁ%ﬂﬁmtw%wmﬁa@%%mﬁaﬁwﬁﬁﬁl

Explain the different parts that should form part of a milling fixture.

IS T 39 afd dlran Y faean & smen S |

Explain any four press working operation in detail.

Ufer & whaerer fyawor 61 saren Hi |

Explain stress distribution in rolling.

2102

(©))

&)

(€))

3)

3

@®

®

®

®

®

®



